
SAP ABAP table PIBA {Process planning interface: Production requirements}

PIBA

MANDT [CLNT (3)]

ADRNR [CHAR (10)]

PEGREQ [CHAR (30)]

REQMAT [CHAR (18)]

WERKS [CHAR (4)]

REQUNIT [UNIT (3)]

PLNTY [CHAR (1)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]
 PIBA-REQMAT = MARA-MATNR 0..N

1

T000

MANDT [CLNT (3)] PIBA-MANDT = T000-MANDT 0..N

1
T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 PIBA-WERKS = T001W-WERKS 
0..N0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 PIBA-REQUNIT = T006-MSEHI 

0..N

1

TCA01

MANDT [CLNT (3)]

PLNTY [CHAR (1)]

 PIBA-PLNTY = TCA01-PLNTY 

0..N

{0,1}


